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EVALUATION OF GROUND DISPLACEMENT
FOR SEISMIC DESIGN OF TUNNELS NEAR VERTICAL SHAFT

Y oshinori TACHIBANA[ Hisanori OTSUKA and Shigeru Y OSHIMURA

As for seismic design of immersed tunnel and shield tunnel, a part to connect with shaft often becomes
a subject in design. Though the influence of ground displacement is taken into consideration as for the
tunnel seismic design, ground displacement is calculated by using the model of the ground without shaft.
But, the calculated value of the ground displacement is greatly different by calculating it in consideration
of shaft, when the ground is soft, the scale of shaft is large and shaft is supported on hard layer or the
foundation. From the above point of view, the influence of shaft in the evaluation of the ground
displacement was examined by the three dimensions FEM analysis. Parameters are the scale of shaft and
the its supporting conditions and the ground property.



